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AN dot=SAFE A
HE: NYHLE 25 U BSHLEE 22 (BBRE/YGHEE - £7)
Pl DISASE U AR 2EAE 22 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZEMXY d=g=35 Ald A72 2/l (x
O, CHOH B S =8, %3, 2 1) 60,000
5,000,000& x12&
206 M= Hl 52,800 52,800 0
01 M2 4l 52,800 52,800 0
OZax a5 ¢ 40,0003 5 *6 I A x4 3 4,800
Otisa+=E 3 FLEZHY 7Y 48,000
—RO H (4 t9 6,000,000& »4H A +23] 48,000
SMXE Ot2adsS 2el(eld]) 178,703 0 178,703
101 @124l 178,703 0 178,703
04 JI12ZtHZ22HEE = 178,703 0 178,703
OEAMXNY Ots&xE FZ 22 A2Y 178,703
—Jles 66,800 x6H 27U« 12& 129,860
—- =549 66,800 *6% *535 21,243
— A28 Z 300,000 x6H «12& 21,600
— &0z 500,000& x6H +23| 6,000
SANS A3 HEAY 700,000 0 700,000
s 700,000
SEMAS=Y JHEAY 700,000 0 700,000
s 700,000
401 AIEHI L 2 CHYI 700,000 0 700,000
s 700,000
01 A& HI 700,000 0 700,000
ONMHXt &ot=EE TAXNY Al Y &I
Bl (o M &2 0.5km) 200,000, 000& 200,000
s 200,000
OZAE EAXS A3 i S (chH2
2 3.0km) 300,000, 000& 300,000
s 300,000
OXEH TAHXG A3 Mg dAHbHI(S 2
Brd M x) 200,000, 000& 200,000
s 200,000
AxdE M=Kl ALY 286,000 0 286,000
s 200,000
< 25,800
[ia 60,200
AMedE M=K SSAY 286,000 0 286,000
s 200,000
< 25,800
[ 60,200
401 AIEHI L 20 286,000 0 286,000
as 200,000
= 25,800
e 60,200

w




ASts T AP A
s 25 2 08 22 (BEES/
AadE M=Kl S AY

4
A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
01 A& HI 286,000 0 286,000
OAM=®E MKl AEAY(UOE)
286,000,000 286,000
s 200,000
< 25,800
s 60,200
ol A2 (BFES/Mol2E - =F) ,613,434 4,271,298 A 657,864
= 1,135,000
< 48,643
fia ,429,791
ot=XHel A4 , 106,429 2,689,000 A 582,571
= 1,135,000
< 48,643
[ia 922,786
AT B30k ELAY 20,000 40,000 A 20,000
401 Al & HI & 2 O8I 20,000 40,000 220,000
01 A& Bl 20,000 40,000 220,000
O33dt+=& =4 1,000,000& *203| 20,000
3305 Jlsdd 89 45,000 100,000 255,000
401 Al& I 28I 45,000 100,000 A 55,000
01 A& HI 45,000 100,000 A 55,000
O&3dt=% Jl=ddg 849 45,000,000& 45,000
OtSot+= & JIBAIE(ZREXF) 764,287 1,698,000 A 933,713
= 535,000
< 22,929
[ia 206,358
401 Al B2 2B 764,287 1,698,000 A 933,713
= 535,000
= 22,929
e 206,358
01 A& HI 759,471 1,698,000 A 938,529
OFFZXF OtSot=E HUIAEY
764,286,000& *1JH 2 *99.37/100 759,471
= 535,000
< 22,929
= 201,542
03 A& =2 THHI 4,816 0 4,816
OFFZXF OtSot=E HUIAY
764,286,000& *0.63/100 4,816
OtSotxE L JIBtAIE (H T K 2) 428,571 0 428,571
= 300,000
< 12,857
[ia 115,714
401 A& BIZ 201 8] 428,571 0 428,571
= 300,000




AN dot=SAFE A
Y BaG B (BBBE/MGAT - +T)
S SteXMelFALE (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,857
s 115,714
01 A& HI 428,571 0 428,571
OYItX - OtSot=S FUIAY
428,571,000 =14 & 428,571
= 300,000
< 12,857
e 115,714
OtSot+= & JIBAIE(ESXR) 428,571 0 428,571
= 300,000
= 12,857
s 115,714
401 A& HIZ 201 Y] 428,571 0 428,571
= 300,000
< 12,857
s 115,714
01 A& HI 428,571 0 428,571
OE=2X+ Otsot=E FUIAY
428,571,000 =10 2 428,571
= 300,000
< 12,857
e 115,714
OiSct== RANES 20,000 50,000 A 30,000
T AIEHI &R 20,000 50,000 30,000
01 A& HI 20,000 50,000 A 30,000
Ontgst=S AMEdE FNES
5,000,000& *43| 20,000
ot==&Hl JI2H= 400,000 0 400,000
401 Al HI K 2018 400,000 0 400,000
01 A& Hl 400,000 0 400,000
Oot==dH JI2Hs ~8EH(EE)
400,000,000& =13l 400,000
St=Xold 2Z2el 1,507,005 1,582,298 AT5,293
Meld2d 2 |sAz2el 1,278,799 1,275,869 2,930
201 Let24d] 1,258,799 1,171,849 86,950
01 AP 2teltl 64,115 131,245 A67,130
O=Sot+=XelAlE BladssS 7Y
170,000& 13 170
OBZotaMalAL 2TAN W4 PY
600 40K A +83 x 122 2,304
OZBotaHeAANL 2TAM £42
59,0003 4001 2 *43| 9,440
OMelot=HXelAle =ZHA =2
10,000 *94 K 2 940
OZ3ot=XelAlg 22A &= 2 5,380




AN dot=SAFE A
B slac Re(BBBE/MBET - £F)
©el: st E 2L CERED
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Hg=E(s=) 150,000& 10 1,500
—AYEE(EF=E) 100,000& =10 1,000
— Ot& St 48,000& x10H 480
— 138 &Y= 200,0003 « 12t A«12)H & 2,400
OBZoI4HRAANE AR (Y 50015)7
2 80,000& *40H A 3,200
Oz, &el AN AR S3otxHMelAld &
AX g st 360,000& =63l 2,160
O33ot=HMaAE(IE, o dl AJ AR A A
MHEE FY 630,000 *3H 2 1,890
O33ot=HMaAlE HAZe 288 FL(HL,
AMEE) 30,000 *400H 2 1,200
O33ot=HeAE FAALE AHEE F(
SEH TH 9 45) 94,0002 *103] 940
ONEE BBt +HelAL gxa 872 2y
188,000& 22| 376
OXEE B3ct=xelAld LA
50,0003 x 1 +116 5,800
ONEE BIt+HMaAAE SH Y|
50,0003 x1H 3652 18,250
OQ4 HEHSZ HAMY U S5 SHYA
SIES 1,065,000& *12] 1,065
ORUAHI(HEZ, odl, 3, 2N, 2E)EY
Sabal=d 2,200,000 *5H 2~ 11,000
02 =24l 1,194,684 1,040,604 154,080
O33ot= Al (Ml Z:410A  BEE:600H4)
SRR 37,700,000& x12& 452,400
O33ot=HMalAlE (XL, o al, i)X*QPRZ
50,0003 «3CH+122 1,800
OARE BSot=Hel A& (38MA)IIH, &I
s szl 370,000& #3801 2128 168,720
Q&I & (ME, o dl, A5 )HE
3,700,000 =34 2 11,100
Ost=47dt+=% &3l 1,600,000& 13l 1,600
O&Eg B3dt==XelAld ZelAb el
940,000 71 & 6,580
Oz &ot= MclAl& Xg =Xl 20,504
—E&x 1,700& x150L 43 x12& 12,240
—28sEX 1,700 *40L*43| x12& 3,264
—XgEs 2 2e 5,000,000 = 1CH 5,000
OUn2 S3ot==xeld & SHEBZE NS
=X zel 16,200,000& 12 194,400
O330t==XelAld W= 2 otFEI| WXl
300, 000& *200H 2 =44 24,000
O & KA 2eltl 940,000& *23] 1,880
O33ot=HMelAl& (XE, o4, 2d3]) HEEH|
DM 2 szt 15,000,000 *3H 2 45,000




SN A
HE: o4
Sl ot4H

dE 2822 (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OdGe olxmels 2200 2dad 890
1,200, 000& 23| 2,400
OXEE2 18 S3ot==HMelAlE S HM
== 600,000& =12 7,200
OXEE ot=HMeld (T-P)Hels sl &
o 5,000,000& 4= 2| 20,000
O=3dt=HelAlE IMS2g el (&E,d3])
62,000,000 *20H A~ 124,000
OZ23ct=HMal&d HASA(ZT 2, d3l)
3,400,000 =34 2 10,200
O33dt=HMeld el Ex0I=8E WA
) 7,500,000& *8IH 2~ 60,000
O33dt=HMelAld Gtx=eiXl AE X2
143,000 300 42,900
401 Al& I 2 O8I 20,000 80,000 260,000
01 A& tI 20,000 80,000 A 60,000
OURE 33ct=HMelAlE JIHEHIAIE E=
2 Wi 20,000,000 20,000
Held =&ze] 184,400 294,400 A110,000
201 Let24d] 6,000 6,000 0
01 At 22/l 6,000 6,000 0
OEAXNY 2= T4l 1,500, 000& *43| 6,000
206 M= Hl 48,400 48,400 0
01 =8l 48,400 48,400 0
DTS HAAE SHFAA AHA A
IR 7 4,600,000& *43| 18,400
OACFE MelAld & 4F 7
5,000,000& =63l 30,000
307 glz2tol & 130,000 240,000 A 110,000
05 RIZHRI & 3 130,000 240,000 A 110,000
O33dt=XelAld 2g2e A4
130,000, 000& 130,000
Heldeg 2 sAZel(erAl) 43,806 0 43,806
101 1A dl 43,806 0 43,806
04 JIZHHZ2XREE S 43,806 0 43,806
OXEZ ota=HMeld 2F2el oAl 30,990
== 70,0003 «1H 272 128 22,680
- =54 70,0002 »1H «53=F 3,710
— A28 Z 300,000 x1H =123 3,600
— &3 500,000 18 *23| 1,000
O2REXelZE R, F5& EMMAH 22
66,8003 *3H x 10! 43 8,016
ObtSdt=HMelE E=MH A2
100,000& *4H 3 43| 4,800
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